TEXAS P.E. #104123

® end
~ N T eeeren,
SO nge 4 ?0
L A

4 2 ond A

v : % s e .

: : - B s w9 3
p><: R

i I - NP :

——— oXwt} ;}{,\u A,

=— 37.5" MAX. FRAME WIDTH {12')(’?:

PERFORMANCE STANDARD W a,q»%os_,?*\‘&

t
lhhuxxxx\"'

Lyndon F. Schmidt, P.E.

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By:

Phone No.:

Opaque Fiberglass Door

CERTIFICATE OF REGISTRATION # F—11852

"NON-IMPACT"
INSWING / OUTSWING

©
ENDURA

HEIGHT (INSWING)

82" MAX. O.A. FRAME

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

81.125" MAX. O.A
FRAME HEIGHT (OUTSWING)

PRODUCT:

EVALUATED FOR USE IN THE STATE OF TEXAS

LFS | PART OR ASSEMBLY:

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building

BY

Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4631.34.dwg, TX-4631

=
NS
3|E
2. When used in areas requiring wind-bormne debris protection this product is E g -
required to be protected with an impact resistant covering that complies A ; %
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. g =~ W
3. Allowable design pressure requirements must be equal to or less than the Lg N USJ
design pressure rating shown in the design pressure chart, sheet 1 of this sl |x
drawing. Bl
4. Conditions not covered by this drawing are subject to further engineering - S
" analysis. : : B
<<
()]
< (w
TABLE OF CONTENTS g LQ‘(
SHEET# | DESCRIPTION = - sl I I
1 Typical elevations, design pressures & general notes X INSWING +50.0 -50.0 - |2
2 Door panel details DATE: 10 /2 " /1 6
3 Horizontal & vertical cross sections X OUTSWING +50.0 -50.0 SAE. NT.S
4 Vertical cross sections — - JK
5 Frame anchoring
CHK. BY: LFS
DRAWING NO.:
TX—4631

SHEET 1 oF 5

© 2016 R.W. BUILDING CONSULTANTS INC.



RiClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4631.34.dwg, 2.7

STILE {LVL)

/

7

— 1.6" —=

LOCK BLOCK
(WOOD: 21" LONG)

STILE {EVL) INTERIOR
:R A
14" EXTERIOR
/"1 "\ HORIZONTAL CROSS SECTION
\2/
35.75" MAX.
PANEL WIDTH
D
St
2
=
)
-
2 ©
% [0}
3 X
&
SEE HARDWARE
TABLE

D

DOOR PANEL
Masonite
Fiberglass

DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES (991)
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RALL
(WOOD)

FIBERGLASS
DOOR SKIN

N

-~ 1.7" —|

INTERIOR

FOAM CORE

BOTTOM RAIL
(WOOD COMP.)

~ ‘

EXTERIOR

1.7

/ 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F-—-11852

Documents Prepared By:

w
=
5
< o
& .
=) | ©
S 13 =
& ol &
)
o
2 o
CE
g O
o k
o <C
(2 2 a
vd B D
Y I
3
Q
)
31O
|S]
Sl
Elo]
Sldl j»n
R =
o|®f 1O
£l |2
Elol @
R
&
S
LN
£
85
<C
(o]
NG L
ol =
~ |<
NS
(e}
- lo
z
oATE: 10/25/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4631

shEer 2 oF 5

© zo1e R.W. BUILDING DONSULTANTS INOC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK, DB)\C - Drawings\TX-4631.34.dwg, 3.7

2 2X FRAMING 2X FRAMING
3 - o (G >=0.42) o (G >=0.42)
"/ I ™ T
) S AN il N
> EXT. SHEATHING il - EXT. SHEATHING ([ o
B m [ ] m “ [ ] \ Hil : 5}: \ DRYWALL \ , {ﬁ'fi \ DRYWALL
i | WooD sCRew j - | wooD SCREw
1/4" MAX. 1 1/4" MAX. (110 2
SHIM SPACE ' )
S ¥z SHIM SPACE ™|
m i d SOE
3 e .
3/ X © 1 = 00p0o0]
DOOR PANEL ~ ? DOOR PANEL \
HEAD: PINE ~ HEAD: "FusionFrame" (1-PIECE]
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650}
| \
CORNER PADS > q EXERIOR ~ ©  INTERIOR EXTERIOR W INTERIOR
(P N TN
VERTICAL CROSS SECTION "3\ VERTICAL CROSS SECTION
m/l’o\ ﬁ\m U Outswing shown inswing \_3_/ Outswing shown inswing
VEMAX g 174" MAX.
EXT.SHEATHING ~ SHIMSPACE (TYP.) , SHIM SPACE EXT. SHEATHING
\ JAMB: "FusionFrame” /
0.75" -1“! 0.75" .1.._.1 r<_..‘_ 0.75" \ / JAMB: PINE {1 OR 2-PIECE) ____/ .
i LI , #10X 2-1/2" PFH e
= == #10X 2-1/2" PFH
COMPOSITE 2X FRAMING ) " WOOD SCREW WOOD SCREW
\ SNAP‘ON (G >= 0.42)
CAP \ ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >=0.42)
N\ (QEBD/PE 650) (QEBD/PE 650 /
N ' EXTERIOR ‘
7L BHIEROR
D
=
/ = LvL N =
—»’ 1.25" L—~_, 125" = _ | o5 | DRYWALL/ / \ . INTERIOR \ DRYWALL
' #8 X 2-1/2" PFH WOOD SCREW #8 X 1"PFH SMS
JAMB / HEAD JAMB / HEAD JAMB £ HINGE LATCH #8X 2-1/2" PFH
PINE "FusionFrame” "FusionFrame" #8 X 3/4" PFH SM$ STRIKE PLATE WOOD SCREW
(1-PIECE) (2-PIECE) /1 "\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585
Phone No.: 813.659,9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

2X FRAMING

3
S
=2
wd
>=
<
= LB
> b n
INEF
& S ;8’)
7] o
S
gl Qaz
< 2O
ECE
2 ol T
e} &
o <C
Q. o
2 Iz
Ll |
L)
Q
o
B0
O
S|
£
Sio| |n
A z
»|® O
S8 2
Elol @
512 [
S|
L
olE
85
T
»
™~ Lot
o)) b
NEE
[»))
-1 o
Zz
oaTE: 10/25/16
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4631

SHEET 3 oF 5

© zo1s R.W. BUILDING DONSULTANTS INGC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD} - DR-855 Masonite FG Opaque (LK,DBN\C - Drawings\TX-4631.34.dwg, 4.7

CERTIFICATE OF REGISTRATION # F—11852

\\ \\ _cmoRy ;; o
INTERIOR EXTERIOR INTERIOR EXTERIOR ) St Vi "o
DOOR PANEL ENDURA ERE AN 83, &
L DOOR PANEL WEATHERSTRIP /i DOOR PANEL S Ex g U
ENDURA (QEBD/PE 650),  'NTERIOR N\ EXTERIOR g5 fg ¢8 §
. — : 0 Z
DOOR SWEEP ENDURA e INTERIOR BXTERIOR[ 5~ Yy S22
DOOR SWEEP WEATHERSTRIP EXTERIOR| " <2 o7 g
(DBK-R) QEBD/PE 650 %" g S
DBK-ZAC 111213 ( ) 2 VORI EM z22 5
( ) (A 3 Sgén
........ . % »
\\ zl?li‘/{g ¥ 4"-.73\;_«, Z2e5 &
DOOR e oy &
l; PANEL 9% s
[ 5 8
[:2 [ N+ S
m

Documents Prepared By:

#10 X 2.5" PFH WOQOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR %’
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW 1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW 5
L)
7“1\ VERTICAL CROSS SECTION /“2"\ VERTICAL CROSS SECTION /"3 "\ VERTICAL CROSS SECTION {4\ VERTICAL CROSS SECTION 3 &
\4/ Inswing Adjustable Threshold W Inswing Arficulafing Threshold w Outswing Bump Threshold \U Outswing Bump Threshold S
) o S
= o X
Ll = ©
b -~
4 3
.e }:
| S 8l &
A AR e |E
?8 [ Ve :,% a a
i DR gl I
U] L] L'J
4.56“ -— !‘ 4-56 "'! !— 4.56 ! ! 4.56" ’ QB §
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD =0
1 J2aases 2 )} Ai4565eN ZAILAA4565 ZAIAA4565FN ZAI4565RDS SIZ|
38| |
- =z
o2 1O
} } 2| 2
2N a
9 L % Q| |
— NS — B
+ 4
: . , ‘ 12
| 456" ! | 456" 4.56" l e s —____..l 3>
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD g n
& Jinciasss 7 Jincasesi IACLAA4565 IACAA4565FN ZACA4565RDS g g
| MAX. DESIGN PRESSURE = 45 PSF | ol |
- Ic
Z
LS (s Vo@D = A T
h = = i scae:  N.T.S.
{ L 1 i ) owe. B:  JK
| [ [ l | Y ‘ [ . cHk. B::  LFS
i 4.56“ bt} I 4.56" | { 4-56 1 I 4.56 i DRAWING NO.:
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD TX—4631
1 ) 0Bassse ZOBL4565 ZOB4565RDS FOB4566 -

© zo186 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4631.34.dwg, 5.7

s o 2X FRAMING HEAD ANCHORS: e
o06< (BY OTHERS) #10 X 2-1/2" WOOD SCREW {PINE JAMB) £3 @
=y v #10 X 3" WOOD SCREW (1-PIECE JAMB) ford Ex s e
378 N " & ] .2 Z-
S 9 . ¢ 3 augm 94
-0 = 19
- (TYP.) gu wh o T a5
! g =§ £o5 3T
7 S e ZZ
- _ & b4 292 506
S G l \l e ""‘“““‘“"'? € -, ->‘| g % 8 ae
. EE HINGE - N — S5
T ER4—  DEAL f _J HewaT 225 %’E
EE} w hh, e -\ Sd . £9
- ? - = Z b o g ¢
?ﬁ e % 8 a. o § 2 § f % L
c'~\'; y = — - y ,Q 8 a 2 o § o °
™~ JAMB ANCHORS: =9 £ Baf gk
= #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) & % 2 S og
o N #10 X 3" WOOD SCREW (1-PIECE JAMB) 5 k
3 E @ )
Eik B . [E g
SEE HINGE ]
DETAIL 2 SEE STRIKE A i
B ~ PLATE DETAIL W ©
> o X
i <
174 zE I -
2y EE
e - ~ o = m| <
[N - b &l w
. AN L& % g
<
N SILL ANCHORS: s 2 &
HINGE JAMB #10X 2-1/2" PFH WOOD SCREW STRIKE JAMB = ©
- 1/4" X 2-3/4' ELCO OR g g
FLOOR SUBSTRATE MATERIAL FRAME ANCHORING {TW CONCRETE SCREW
CONCRETE {MIN. 3000 PSI) X ‘é’ %
WOOD (G >=0.42) -
[}
- DEADBOLT SECURITY s(3
STRIKE PLATE
#10 X 3" PFH WS == g2
£[0)
ojm (£
#8 X 2-1/2" PFH WS ——] ‘oo |O
-~ LATCH STRKE eS| |2
— PLATE S N I
SiB| |
STRIKE PLATE DETAIL ::_’ E
. . . = a
CONCRETE ANCHOR NOTES: g5
1. Concrete anchor locations at the corners may be adjusted to maintain the min. <
edge distance to mortar joints. 2
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8X 2-1/2" PFH WS > n"é"
maintain the min. edge distance to mortar joints, additional concrete anchors / i P #8 X 2-1/2" PFH WS g a
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. s e 3
4» ile * ol - |z
" - ,. | |
#8X1"PFH WS <=0 [ o= #8X 3/4"PFH WS #8 X 1" PFH wsé:.: S #8 X 3/4" PFH WS oATE: 10/25/16
— 4" X 4" HINGE X 4" HINGE scae:  N.T.S.
\{ \ DWG. BY: JK
TN | e 1-3/4" 1-1/2" & N ow o LFS
TAPCON HINGE DETAIL 1 HINGE DETAIL 2 DRAWING NO.:
ELCO " . " " TX—4631
uLTRACON®| 174 1-3/4 L 4
SHEET 5 oF _ 5

© zo16 R.W. BUILDING CONSULTANTS ING.



